= % 4x? + 2xy 9] 57t obd A2

® x(2x+y) @ 2
@ vy ® 2x+y



2.

4x% + Ox + 16 o] LHAAFAo] 2 o, o]

@ (2x+1)? @ (2x+2)?
@ (2x+4)? ® (2x+5)?



3.

Y27} 2a - 7, Wol7F 842 — 30a + 7 ¢l AALZHE o] |2 Ao

Fatelet.

B
=¥

|



+ (24 V2)x+2V2 & QIFEFSHH?

O (x=2)(x+ V2) @ (x+2)(x— V2)
@ (x—1)(x+2V2) @ (x+2)(x+ V2)
® (x+1)(x-2v2)



5. 6x%—x
-A=(x+1
(x+1)(Bx+C) A T, 4, B, C ] & 27} Fojolet

Be:a=
ERE

Bec=



o
jille
rlo
N
I
ftlo
ro
i
M
:?—l‘_‘a
_O,l‘,
£
o
rE
filo
ne
rlo
M
)
o
8o
rlo
sl
flo

)

@D —6ax — 2bx = —6x(a + 2b)

@ ax®>+ay=a(x+y)

® alx+y)-b(x+y)=(x+y)—ab
@ —4x% +16y? = —4(x + 2y)(x - 2y)

® x(2a-
b) + 2y(2a — b) — z(2a — b) = (2a — b)(
-b)(x-2y)—z



7. (x+2)%-(x-1)(x+2) & #7Hste] 7heks] LreRHH?

@ 2x24+4x+6 @ 2x% —4x @ x2-7Tx+2

@ 3x+6 ® 3x-6



AaPx—a®-x+1S AT

&

=t

8.

ol
S
A
=
IS

o
K
A
o
<
Y

© a+1

O x-1

@ x?+1
® x-2

@ a-1

® 0O, ® 0,606

© 006
@ ®, O

® ©,e,0



9. b=

ol

A WEAT L a, b o] G Pl

37x (40 + a) = 402 —a® = b

YERE



10. x-y-3=0% u, x —2xy+y? - 5x+ 5y +1 2] 722

D -7 @ -5 3 1 @ 3 B 5



